

THE RELATIONSHIP BETWEEN THE DURATION OF HEMODIALYSIS AND BODY MASS INDEX IN CHRONIC KIDNEY DISEASE PATIENTS AT SANJIWANI HOSPITAL

I Gusti Ayu Maha Deivy Darmadi¹, I Wayan Gede Sutadarma², Ni Wayan Tianing³, I Wayan Surudarma³

¹Bachelor of Medicine, Faculty of Medicine, Udayana University

²Department of Clinical Nutrition, Faculty of Medicine, Udayana University

³Department of Biochemistry, Faculty of Medicine, Udayana University

Correspondence:

I Wayan Gede Sutadarma

Department of Clinical Nutrition, Faculty of Medicine, Udayana University

E-mail: gede_sutadarma@unud.ac.id

E-mail: mahadeivy@gmail.com

ABSTRACT

Background: Chronic kidney disease (CKD) occurs when kidney function declines, as indicated by a glomerular filtration rate (GFR) below 60 mL/min/1.73 m² for 3 months or more. Hemodialysis is used to replace the lost kidney function. However, long-term hemodialysis can worsen the nutritional status of patients. Body mass index (BMI) is a good non-invasive indicator for assessing nutritional status. The purpose of this study is to determine the relationship between the duration of hemodialysis and BMI in CKD patients at Sanjiwani Hospital.

Methods: This analytical observational study used a cross-sectional approach involving 95 CKD patients undergoing hemodialysis at Sanjiwani Hospital who met the inclusion and exclusion criteria. The relationship between the duration of hemodialysis and BMI was analyzed using the Spearman correlation test.

Results: The study subjects were predominantly male (63.2%), with a median age of 50 years (range: 21-63 years). The median duration of hemodialysis was 3 years (range: 1-17 years). The mean BMI was 24.15 ± 4.56 kg/m². The analysis showed a significant relationship between the duration of hemodialysis and BMI ($r = -0.211$, $p = 0.04$).

Conclusion: This study concludes that there is a weak but significant negative correlation between the duration of hemodialysis and BMI, with a tendency for longer hemodialysis duration to be associated with a decrease in BMI.

Keywords: chronic kidney disease, hemodialysis, body mass index.

INTRODUCTION

Chronic kidney disease (CKD) is one of the major health issues worldwide. CKD occurs when kidney function declines, as indicated by a glomerular filtration rate (GFR) below 60 mL/min per 1.73 m² for three months or more, regardless of the underlying cause.¹ When the GFR falls below 15 mL/min per 1.73 m², severe complications arise, necessitating treatments such as dialysis or kidney transplantation.² CKD has a poor prognosis, requires high treatment costs, and shows a continually increasing incidence and prevalence of kidney failure.³

The prevalence of CKD at certain stages is estimated to affect 1 in 10 global population.³ CKD has become the 16th leading cause of death worldwide. In 2015, out of 249 renal units in Indonesia, 30,554 patients were actively undergoing dialysis, the majority of whom had chronic kidney disease. CKD ranked 7th among the ten most

common diseases requiring hospitalization in Bali in 2017, with 1,572 cases. According to data, the number of CKD cases in Bali Province affects 38.7% of the population, making it the second highest in Indonesia, after Jakarta.³ This situation makes CKD one of the diseases that require increased attention.

Patients with CKD experience various clinical manifestations that impair their health and quality of life due to the decline in kidney function. Common symptoms include shortness of breath, sleep disturbances, pain, dizziness, fatigue, nausea, vomiting, weight loss, muscle weakness, and joint stiffness. According to the disease stages based on GFR, CKD is classified into five stages. In stages 1-3, symptoms are generally not yet apparent. However, in stages 4-5, kidney function significantly declines.² The 2015 guidelines from the National Kidney Foundation's Kidney Disease Outcomes Quality Initiative (NKF-KDOQI) recommend hemodialysis for patients with

stage 4 CKD (GFR 30 mL/min/1.73 m²) who present with signs and symptoms of kidney failure (serositis, pruritus, and acid-base abnormalities), uncontrolled blood pressure, declining nutritional status despite dietary management, and cognitive decline. Hemodialysis is also indicated for patients with acute conditions related to acute kidney disease, uremic encephalopathy, hyperkalemia, pericarditis, refractory metabolic acidosis, hypervolemia causing complications, malnutrition, and for asymptomatic patients with a GFR of 5 to 9 mL/min/1.73 m².⁴

Hemodialysis is a medical procedure that replaces the function of non-working kidneys. This procedure uses a dialysis machine to filter the blood, removing metabolic waste, excess fluids, and electrolytes not effectively eliminated by poorly functioning kidneys.⁵ Long-term hemodialysis can lead to a decline in the patient's nutritional status, resulting in malnutrition.

The mechanism of malnutrition in CKD patients undergoing hemodialysis involves protein catabolism, secondary insulin resistance, inflammation, and increased serum leptin levels.⁶ Iatrogenic factors involved in malnutrition in CKD patients include inadequate dialysis, leading to uremia and correction of metabolic acidosis, and/or low serum albumin levels in patients undergoing dialysis with highly permeable membranes. Meanwhile, non-iatrogenic approaches should identify the implications of dietary insufficiencies, such as suboptimal dietary protein intake (DPI) and dietary energy intake (DEI), poor appetite, inflammation, low diet quality, and a high monotonous diet index, which indicate barriers to achieving dietary adequacy, and/or identify psychosocial and financial barriers to optimal nutrition.⁷

Malnutrition is a strong predictor of mortality and morbidity, as well as increased hospital admissions, low physical activity, poor quality of life, and inadequate dialysis.⁸ Therefore, several guidelines recommend regular nutritional status assessments as part of routine care. Various methods can assess nutritional status, including physical examinations, laboratory data, food intake, energy expenditure, and anthropometric evaluations. Anthropometric measurements are a non-invasive, reliable, and easily applied method for assessing nutritional status. Body mass index (BMI) is the most commonly used anthropometric indicator. The formula for BMI is weight (kg) divided by the square of height (m).⁹

Research on the relationship between the duration of hemodialysis and BMI has been limited and shows varied results. A study by Putra, Asmara, and Cholidah on the relationship between the duration of hemodialysis and nutritional status found no association between the duration of hemodialysis and BMI.¹⁰ This is supported by a study by Insani, Ayu, and Anggraini on the relationship between the duration of hemodialysis and nutritional status, which also found no association between the duration of hemodialysis and BMI.¹¹ On the other hand, according to Widayastuti, Butar-Butar, and Bebasari, there is a significant relationship

between the duration of hemodialysis and BMI.¹² Research on the relationship between the duration of hemodialysis and BMI in Bali Province is still limited, despite the high number of CKD patients undergoing hemodialysis in the region. Based on this issue, the author is interested in conducting a study on the relationship between the duration of hemodialysis and BMI in CKD patients at Sanjiwani Hospital.

LITERATURE REVIEW

Hemodialysis

Hemodialysis is a therapy that filters excess water, solutes, and toxins from the blood, similar to the function of normal kidneys. Hemodialysis helps control blood pressure and maintain the balance of minerals such as calcium, sodium, and potassium in the blood. The principle of dialysis is based on the diffusion of solute particles through a semipermeable membrane. Metabolic waste products, such as urea and creatinine, diffuse down their concentration gradient from the circulation into the dialysate.

Perhimpunan Nefrologi Indonesia (PERNEFRI) has established several indications for hemodialysis in CKD patients, including all patients with creatinine clearance (CC)/GFR < 15 mL/min, GFR < 10 mL/min with uremia and/or malnutrition, CC/GFR < 5 mL/min in asymptomatic patients with acute complications (such as hyperkalemia, pulmonary edema, and refractory metabolic acidosis), and it may be initiated earlier in patients with diabetic nephropathy. Several complications during hemodialysis sessions (e.g., headache, nausea, hypotension) and some side effects of hemodialysis (e.g., pruritus and access site complications) are significantly correlated with malnutrition.¹³

Body Mass Index

Body Mass Index (BMI) is an anthropometric measurement that is non-invasive, reliable, and easy to apply for assessing nutritional status.¹⁴ The BMI calculation formula is as follows:

BMI = weight in kilograms / [height in meters x height in meters]

According to the Centers for Disease Control and Prevention (CDC), anthropometry, including BMI, can assess the nutritional status of both adults and children. BMI measurements are non-invasive and, therefore, have no contraindications for their use. Factors such as age, gender, ethnicity, body posture, genetics, and environment can influence BMI measurements.¹⁵

The Relationship Between the Duration of Hemodialysis and Body Mass Index

Patients undergoing hemodialysis experience rapid weight loss after initiating dialysis. Greater weight loss

during the first few months of dialysis initiation is associated with a higher risk of mortality.¹⁶ Longer duration of hemodialysis has been associated with an increased risk of malnutrition. Malnourished patients experience a significant decrease in BMI.¹⁷

Factors involved in malnutrition in CKD patients include iatrogenic and non-iatrogenic factors. Iatrogenic factors are unintended consequences of dialysis in CKD patients, while non-iatrogenic factors develop spontaneously from contributing factors associated with the progression of CKD, but are not related to the primary treatment. Iatrogenic factors involved in malnutrition in CKD patients undergoing hemodialysis include inadequate dialysis leading to uremia and correction of metabolic acidosis, and/or low serum albumin levels in patients undergoing dialysis with highly permeable membranes. Non-iatrogenic factors should identify the implications of dietary insufficiencies, such as suboptimal dietary protein intake (DPI) and dietary energy intake (DEI), poor appetite, inflammation, low diet quality, and high diet monotony index, which indicate barriers to achieving dietary adequacy, and/or identify psychosocial and financial barriers to optimizing nutrition.⁷

MATERIALS AND METHODS

This study is an analytical observational research with a cross-sectional approach. The research data consists of primary data from the measurement of the body mass index (BMI) of patients and secondary data from the patient's medical records. The study sample consists of CKD patients undergoing hemodialysis at Sanjiwani Hospital who meet the inclusion and exclusion criteria, selected consecutively. The inclusion criteria include CKD patients who have been undergoing hemodialysis for ≥ 3 months, are willing to sign an informed consent form, and are male and female aged 18-64. The exclusion criteria include patients with impaired consciousness and incomplete medical records. The minimum required sample size is 91 samples. The

independent variable in this study is the duration of hemodialysis. The dependent variable is BMI. Controlled variables in the analysis are stratified based on the results of statistical analysis, including age and gender. This study will be conducted in the Hemodialysis Room of Sanjiwani Hospital from January to September 2024. For normality testing, the Kolmogorov-Smirnov test will be used. Data is considered normally distributed if the p-value > 0.05 . The relationship analysis will be conducted using Pearson's correlation test if the data is normally distributed or Spearman's correlation test if the data is not normally distributed, with a significance level of $\alpha = 0.05$.

RESULTS

Characteristics of the Study Subjects

A total of 95 chronic kidney disease (CKD) patients undergoing hemodialysis at RSUD Sanjiwani Gianyar, who met the inclusion criteria for this study, were enrolled. The normality test revealed that the age data was not normally distributed ($p = 0.011$). The duration of hemodialysis data was not normally distributed ($p = 0.000$). Meanwhile, the body mass index (BMI) data was normally distributed ($p = 0.057$). The characteristics of the study subjects are presented in Table 1 below. Among the 95 subjects, the number of male subjects was higher than female subjects. There were 60 male subjects (63.2%) and 35 female subjects (36.8%). The median age of the subjects was 50 years, with the youngest subject being 21 years old and the oldest subject being 63 years old. The median duration of hemodialysis was 3 years, with the shortest duration being 1 year and the longest duration being 17 years. Among the 95 subjects, the average BMI was $24.15 \pm 4.56 \text{ kg/m}^2$. The distribution of BMI in the 95 subjects was categorized as underweight (<18.5) in 6 subjects (6.3%), normal weight (18.5-22.9) in 34 subjects (35.8%), overweight (23.0-24.9) in 19 subjects (20%), obesity class I (25.0-29.9) in 28 subjects (29.5%), and obesity class II (≥ 30.0) in 8 subjects (8.4%).

Table 1. Characteristics of the study subjects

Variable	Frequency (%)	Mean $\pm$ Standard Deviation (SD)	p-Value
Gender:			
Male	60 (63.2)		
Female	35 (36.8)		
Age (years)		50 (21-63)*	0.011
Duration of Hemodialysis (years)		3 (1-17)*	0.000
Body Mass Index (kg/m^2)		24.15 $\pm$ 4,56	0.057
Underweight	6 (6.3)		
Normal	34 (35.8)		
Overweight	19 (20)		
Obesity I	28 (29.5)		
Obesity II	8 (8.4)		

*: the data are presented as median (minimum–maximum) due to non-normal distribution

The Relationship between the Duration of Hemodialysis and Body Mass Index

The results of the analysis examining the association between the duration of hemodialysis and BMI are shown in Table 2 below. Spearman's correlation test revealed a

significant weak negative correlation between hemodialysis duration and BMI, with a correlation coefficient of $r = -0.211$ ($p = 0.04$). This indicates that the longer a patient undergoes hemodialysis, the more their BMI tends to decrease.

Table 2. Results of the analysis on the relationship between the duration of hemodialysis and body mass index

	Body Mass Index (kg/m ²)	
	Spearman Correlation Coefficient	p-Value
The Duration of Hemodialysis	-0.211	0.04

DISCUSSION

The subjects of this study consisted of 95 individuals who met the research criteria. In a study conducted by Lajuck, Moeis, and Wongkar, there were 32 PGK patients undergoing hemodialysis.¹⁸ Another study conducted by Ladesvita and Mulyani included a larger sample size, consisting of 95 PGK patients undergoing hemodialysis.¹⁹

The age of the study subjects ranged from 21 to 63 years. The median age of the study subjects was 50 years, with the largest group falling within the age range of 50-59 years. A study conducted by Mahesvara, Yasa, and Subawa also found that the largest sample group was within the 50-59 age range.²⁰ This is similar to the study conducted by Permatasari and Maliya, which showed that the largest sample group was in the age range of 39-59 years.²¹ Similarly, the study conducted by Malfica, Rosita, and Yuantari also showed that the largest sample group was in the age range of 45-59 years.²² These data are also supported by the data from the Indonesian Ministry of Health, which shows that the majority of hemodialysis patients are in the age range of 45-64 years.³ Over the years, the kidneys undergo age-related changes, as evidenced by a decline in glomerular filtration rate (GFR), which reflects the loss of kidney function. Anatomical and functional changes increase with advanced age, leading to a reduction in GFR.²³ According to the research conducted by Jamshidi et al., aging, hypertension, diabetes, obesity, high lipid profile, and blood urea nitrogen (BUN) levels have direct and indirect effects on the decline of GFR.²⁴ Studies conducted from the 1930s to the 1950s have demonstrated that the decline in glomerular filtration rate (GFR) generally begins after the age of 30-40 years and may accelerate after the age of 50-60 years. The loss of kidney function with aging reflects a physiological decline in GFR associated with a decrease in biological function and progressive structural changes, regardless of the presence of disease.²³ This is difficult to distinguish from the pathological decline in GFR associated with kidney disease. Half of the population over 70 years of age has a GFR <60 mL/min/1.73 m².²⁵ The first report on the decline of GFR with age, published in 1950, described a reduction in GFR

measured by inulin clearance, from 123 mL/min/1.73 m² to 65 mL/min/1.73 m² at the age of 90, decreasing by approximately 8 mL/min/1.73 m² per decade.²³

The subjects of this study were predominantly male, accounting for 60 individuals (63.2%). This is consistent with the study conducted by Rahman, Kaunang, and Elim, which showed that the study subjects, consisting of CKD patients undergoing hemodialysis who met the inclusion and exclusion criteria, were predominantly male, comprising 88.2%.²⁶ The study conducted by Bayhakki and Hasneli also showed that the study sample was predominantly male, accounting for 64.7%.²⁷ This data is also supported by information from the Ministry of Health of the Republic of Indonesia, which states that the majority of kidney failure cases are dominated by males.³ A study involving 12 countries, including Australia, Canada, Belgium, France, Italy, Germany, Japan, Spain, New Zealand, Sweden, the United States, and the United Kingdom, in the Dialysis Outcomes and Practice Patterns Study (DOPPS) showed that among all age groups, male patients undergoing hemodialysis were dominant, accounting for 59%.²⁸ A study conducted by Zhang et al. showed that sex hormone-dependent differences in the expression of Epidermal Growth Factor Receptor (EGFR) may be a contributing factor to the tendency of men to develop chronic kidney disease (CKD), as EGFR expression is lower in the kidneys of adult females, both in mice and humans.²⁹

The study subjects who had been undergoing hemodialysis for ≤ 3 years totaled 44 people (46.3%), while those who had been undergoing hemodialysis for > 3 years totaled 51 people (53.7%). The duration of hemodialysis for the patients ranged from 1 year to 17 years, with a median of 3 years. This finding differs from the study conducted by Kusuma, which reported that the duration of hemodialysis for patients ranged from 1 year to 6 years.³⁰ Another study by Wulandari and Fatimah showed that 56.25% of chronic kidney disease (CKD) patients had been undergoing hemodialysis for ≤ 3 years, while 43.75% had been undergoing hemodialysis for > 3 years.³¹ The study conducted by Khazaei et al. states that age, dialysis duration, the cause of End-Stage Renal Disease (ESRD), vascular access, hemoglobin levels, and marital status are

factors that may be associated with the survival of CKD patients undergoing hemodialysis.³²

The subjects in this study had BMI categories as follows: underweight ($<18.5 \text{ kg/m}^2$) with 6 subjects (6.3%), normal weight ($18.5\text{--}22.9 \text{ kg/m}^2$) with 34 subjects (35.8%), overweight ($23.0\text{--}24.9 \text{ kg/m}^2$) with 19 subjects (20%), obesity class I ($25.0\text{--}29.9 \text{ kg/m}^2$) with 28 subjects (29.5%), and obesity class II ($\geq 30.0 \text{ kg/m}^2$) with 8 subjects (8.4%). A study by Aini and Novita reported that, out of 46 samples, the BMI categories were as follows: underweight with 10 individuals (21.7%), normal weight with 31 individuals (67.4%), and overweight with 5 individuals (10.9%).³³ Another study conducted by Sitompul, Rotty, and Sugeng found that, out of 42 samples, the BMI categories were as follows: 7 individuals with underweight ($\text{BMI} < 18.5 \text{ kg/m}^2$), 23 individuals with normal weight ($\text{BMI} 18.5\text{--}22.9 \text{ kg/m}^2$), 7 individuals with overweight ($\text{BMI} 23\text{--}24.9 \text{ kg/m}^2$), and 5 individuals with obesity ($\text{BMI} > 25 \text{ kg/m}^2$).³⁴ The varying BMI in patients with chronic kidney disease (CKD) undergoing hemodialysis can be influenced by several factors. Factors that may lead to malnutrition include inadequate dialysis, poor appetite, inflammation, low diet quality, and a high diet monotony index, which indicate barriers to achieving dietary adequacy, and/or the identification of psychosocial and financial barriers to nutritional optimization.⁷ Meanwhile, excessive energy intake combined with physical inactivity, low-grade inflammation, and insulin resistance, which are common in patients with end-stage renal disease (ESRD), can lead to "sarcopenic obesity," a condition characterized by the loss of muscle mass due to excess adiposity.¹⁶

The results of this study indicate a significant weak negative correlation between the duration of hemodialysis and BMI, with a correlation coefficient of $r = -0.211$ ($p = 0.04$). This study shows a difference compared to the previous research conducted by Widyastuti, Butar-Butar, and Bebasari, which reported a moderate positive correlation between the duration of hemodialysis and BMI in patients with CKD.¹² Factors such as the characteristics of the study subjects have the potential to cause differences in the research results. This study had a larger sample size, with male subjects predominating, and the duration of hemodialysis ranged from 1 to 17 years, with an average of 4.55 years. In contrast, the study conducted by Widyastuti, Butar-Butar, and Bebasari had a smaller sample size (58 participants), with female subjects predominating, and the duration of hemodialysis ranged from 2 to 120 months (with an average of 24.47 months).¹² Other factors, such as dietary adherence, physical activity, and appetite, as well as psychosocial and financial factors that were not further analyzed, may also influence the differences in the research results.

Dialysis affects chronic nutrient loss, particularly amino acids and proteins. Each dialysis session can result in the loss of approximately 6-12g of amino acids and 7-8g of protein, leading to hypoalbuminemia, which can predict

malnutrition and mortality. Furthermore, the causes of malnutrition in dialysis patients include anorexia (inadequate calorie or protein intake), metabolic acidosis (which stimulates amino acid and protein degradation), and infection/inflammation (which stimulates protein degradation). Anorexia leads to decreased intake and is the most significant factor in determining the patient's nutritional status.⁷ The protein requirements of patients undergoing hemodialysis are increased ($1.2\text{--}1.3 \text{ g/kg/day}$) according to the Kidney Disease Outcomes Quality Initiative (KDOQI) Clinical Practice Guidelines for Nutrition. Protein-energy wasting (PEW) indicates the simultaneous loss of protein and energy reserves in patients with kidney dysfunction. This tends to develop as CKD progresses. In a suboptimal energy supply, CKD and end-stage renal disease (ESRD) patients catabolize muscle to provide the required energy, leading to protein malnutrition.³⁵ Patients undergoing hemodialysis experience rapid weight loss after starting dialysis. Greater weight loss during the first few months of dialysis initiation is associated with a higher risk of mortality.¹⁶ Longer duration of hemodialysis has been associated with an increased risk of malnutrition. Malnourished patients experience a significant decrease in BMI.¹⁷

SUMMARY AND RECOMMENDATIONS

This study concludes that there is a weak but significant negative correlation between the duration of hemodialysis and body mass index (BMI) in patients with chronic kidney disease (CKD) at RSUD Sanjiwani, with a tendency for an increase in the duration of hemodialysis to be followed by a decrease in BMI. The recommendation from this study is that further research is needed to explore other variables related to the BMI of CKD patients undergoing hemodialysis, such as iatrogenic and non-iatrogenic factors. This study found a tendency for longer hemodialysis duration to be associated with a decrease in BMI, which should be considered when monitoring and intervening in the nutritional status of CKD patients undergoing hemodialysis. Nutritional support should also be adjusted to meet the needs of individuals undergoing prolonged hemodialysis.

REFERENCES

1. Webster AC, Nagler E V., Morton RL, Masson P. Chronic Kidney Disease. *Lancet* [Internet]. 2017;389(10075):1238–52. Available from: [http://dx.doi.org/10.1016/S0140-6736\(16\)32064-5](http://dx.doi.org/10.1016/S0140-6736(16)32064-5)
2. Suwitra K. Buku Ajar Ilmu Penyakit Dalam Jilid II Edisi V [Internet]. V. Jakarta: Interna Publishing; 2014. Available from: <https://scholar.google.com/scholar?cluster=12937136996465538470&hl=en&oi=scholar>
3. Kemenkes RI. Info datin ginjal. *Situasi Penyakit Ginjal Kron*. 2017;1–10.
4. KDOQI Clinical Practice Guideline for

- Hemodialysis Adequacy: 2015 update. *Am J kidney Dis Off J Natl Kidney Found.* 2015 Nov;66(5):884–930.
5. Barbosa JBN, Moura ECSC de, Lira CLOB de, Marinho PÉ de M. Quality of life and duration of hemodialysis in patients with chronic kidney disease (CKD): a cross-sectional study. *Fisioter em Mov.* 2017;30(4):781–8.
6. Rezende LR, Souza PB de, Pereira GRM, Lugon JR. Metabolic acidosis in hemodialysis patients: a review. *J Bras Nefrol.* 2017;39(3):305–11.
7. Sahathevan S, Khor B-H, Ng H-M, Gafor AHA, Mat Daud ZA, Mafra D, et al. Understanding Development of Malnutrition in Hemodialysis Patients: A Narrative Review. *Nutrients.* 2020 Oct;12(10).
8. Mali N, Ge J, Su F, Li C, Fan W. Review of Risk Factors of Malnutrition in Maintenance Hemodialysis Patients. *Arch Nephrol Urol.* 2022;05(01):24–33.
9. Yoshikoshi S, Suzuki Y, Yamamoto S, Imamura K, Harada M, Osada S, et al. Effects of anthropometric changes on hospitalization and mortality among patients on hemodialysis. *J Nephrol [Internet].* 2023; Available from: <https://doi.org/10.1007/s40620-023-01678-w>
10. Komang Adi Praja Semara Putra, I Gede Yasa Asmara, Rifana Cholidah. Hubungan Lama Menjalani Hemodialisis dengan Status Gizi Pada Pasien Penyakit Ginjal Tahap Akhir yang Menjalani Hemodialisis di RSUD Provinsi NTB. *Unram Med J.* 2022;10(4):594–8.
11. Insani AA, Ayu putu R, Anggraini DI. Hubungan Lama Menjalani Hemodialisis Dengan Status Nutrisi Pada Pasien Penyakit Ginjal Kronik (PGK) Di Instalasi Hemodialisa RSUD Dr. H. Abdul Moeloek Provinsi Lampung. *J Major [Internet].* 2019;8(1):55–9. Available from: <http://joke.kedokteran.unila.ac.id/index.php/majority/article/view/2234>
12. Widyastuti R, Butar-Butar WR, Bebasari E. Korelasi Lama Menjalani Hemodialisis dengan Indeks Massa Tubuh Pasien Gagal Ginjal Kronik di RSUD Arifin Achamad Provinsi Riau pada Bulan Mei Tahun 2014. *Jom FK.* 2014;1(2):1–9.
13. Badrasawi M, Zidan S, Sharif I, Qaisiyha J, Ewaida S, Jaradat T, et al. Prevalence and correlates of malnutrition among hemodialysis patients at hebron governmental hospital, Palestine: cross-sectional study. *BMC Nephrol.* 2021;22(1):1–12.
14. Utkualp N, Ercan I. Anthropometric Measurements Usage in Medical Sciences. *Biomed Res Int.* 2015;2015:404261.
15. Casadei K, Kiel J. Anthropometric Measurement.[Updated 2021 Oct 1]. *Treasure Isl Stat Pearls Publ Available from.* 2022;
16. Kittiskulnam P, Johansen KL. The obesity paradox: A further consideration in dialysis patients. *Semin Dial.* 2019;32(6):485–9.
17. Bramania P, Ruggajo P, Bramania R, Mahmoud M, Furia F. Nutritional Status of Patients on Maintenance Hemodialysis at Muhimbili National Hospital in Dar es Salaam, Tanzania: A Cross-Sectional Study. *J Nutr Metab.* 2021;2021.
18. Lajuck KS, Moeis EB, Wongkar MCP. Status gizi pada pasien penyakit ginjal kronik stadium 5 yang menjalani hemodialisis adekuat dan tidak adekuat. *e-CliniC.* 2016;4(2):0–5.
19. Ladesvita F, Mulyani L. Hubungan Laju Filtrasi Glomerulus Dengan Kadar Hemoglobin Dan Kalsium Pada Pasien Gagal Ginjal Kronik Yang Menjalani Hemodialisis. *Indones J Heal Dev.* 2021;3(2):272–84.
20. Mahesvara IBGA, Yasa WPS, Subawa AN. Prevalensi Penyakit Ginjal Kronik Stadium 5 Yang Menjalani Hemodialisis Di Rsud Badung Periode Tahun 2017-2018. *J Med Udayana [Internet].* 2020;9(7):29–35. Available from: <https://ojs.unud.ac.id/index.php/eum/article/view/62953/35995>
21. Permatasari LF, Maliya A. Hubungan lamanya menjalani hemodialisis dengan status zat besi pada penderita gagal ginjal kronik. *Naskah Publ [Internet].* 2019;11. Available from: http://eprints.ums.ac.id/71743/11/NASKAH_PUBLIKASI.pdf
22. Malfica MJ, Rosita L, Yuantari R. Hubungan Ureum dan Kreatinin Serum dengan Lamanya Terapi Hemodialisis pada Pasien Penyakit Ginjal Kronis (PGK) di RS PKU Bantul. *Berk Ilm Kedokt dan Kesehat Masy (Scientific Period J Med Public Heal.* 2023;1(1):8–18.
23. Noronha IL, Santa-Catharina GP, Andrade L, Coelho VA, Jacob-Filho W, Elias RM. Glomerular filtration in the aging population. *Front Med.* 2022;9(1).
24. Jamshidi P, Najafi F, Mostafaei S, Shakiba E, Pasdar Y, Hamzeh B, et al. Investigating associated factors with glomerular filtration rate: Structural equation modeling. *BMC Nephrol.* 2020;21(1):1–8.
25. Ebert N, Jakob O, Gaedeke J, Van Der Giet M, Kuhlmann MK, Martus P, et al. Prevalence of reduced kidney function and albuminuria in older adults: the Berlin Initiative Study. *Nephrol Dial Transplant.* 2017;32(6):997–1005.
26. Rahman MTSA, Kaunang TMD, Elim C. Hubungan antara lama menjalani hemodialisis dengan kualitas hidup pasien yang menjalani hemodialisis di Unit Hemodialisis RSUP. Prof. Dr. R. D. Kandou Manado. *e-CliniC.* 2016;4(1).
27. Bayhakki B, Hasneli Y. Hubungan Lama Menjalani Hemodialisis dengan Inter-Dialytic Weight Gain

- (IDWG) pada Pasien Hemodialisis. *J Keperawatan Padjadjaran*. 2018;5(3):242–8.
28. Hecking M, Bieber BA, Ethier J, Kautzky-Willer A, Sunder-Plassmann G, Säemann MD, et al. Sex-Specific Differences in Hemodialysis Prevalence and Practices and the Male-to-Female Mortality Rate: The Dialysis Outcomes and Practice Patterns Study (DOPPS). *PLoS Med*. 2014;11(10).
29. Zhang M-Z, Sasaki K, Li Y, Li Z, Pan Y, Jin G-N, et al. The Role of the EGF Receptor in Sex Differences in Kidney Injury. *J Am Soc Nephrol*. 2019 Sep;30(9):1659–73.
30. Kusuma AH. Hubungan Lama Menjalani Hemodialisis Dengan Kualitas Hidup Pasien Gagal Ginjal Kronik Di Ruang Hemodialisa Rsud Merauke. *J Ilm Obs*. 2022;14(4):156–63.
31. Wulandari I, Sari Fatimah. Hubungan Lamanya Menjalani Hemodialisis dengan Kualitas Tidur Pasien Gagal Ginjal Terminal di Rumah Sakit Advent Bandung. *J Med Cendekia*. 2019;3(1):1–8.
32. Khazaei S, Yaseri M, Nematollahi S, Zobdeh Z, Sheikh V, Mansournia MA. Survival Rate and Predictors of Mortality among Hemodialysis Patients in West of Iran, 1996-2015. *Int J Prev Med*. 2018;9:113.
33. Sitti Maziyyah Aini, Novita MDMS. Hubungan Indeks Massa Tubuh dengan Tekanan Darah Sistolik pada Pasien Penyakit Ginjal Kronik yang Menjalani Hemodialisis di RSUD dr . Zainoel Abidin. *J Ilm Mhs Kedokt Medisia [Internet]*. 2017;2:49–54. Available from: <http://jim.unsyiah.ac/medisia>
34. Sitompul A, Rotty LWA, Sugeng C. Asosiasi Kadar Hemoglobin dan Indeks Massa Tubuh terhadap Kualitas Hidup Pasien Penyakit Ginjal Kronik Stadium 5 Hemodialisis Association of Hemoglobin Level and Body Mass Index to the Quality of Life of Patients with Stage 5 Hemodialysis. *Med Scope J*. 2022;4(1):60–5.
35. Zha Y, Qian Q. Protein nutrition and malnutrition in CKD and ESRD. *Nutrients*. 2017;9(3):1–19.

